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PART - A

Spetting Errors

Directions :

In this Section, a number of sentences are given. The sentences are underlined in three separate
parts and each one is labelled (a), (b), (c). Read each sentence to find cut whether there is an
error in any underlined part. No sentence has more than one error. When you find an error in any
one of the underlined parts (a), (b) or (c), indicate your response on the Answer Sheet at the
appropriate space. You may feel that there is no error in a sentence. In that case lettér ‘(d)’ will
signify a “No error’ response.

."I-.
v

1. Unless you stop to make noise at once, I will have no optioh but to
(a) (b)
bring the matter to the attention of the police. No error.
(c) () .
2. Hecouldn’tbuthelp shed tears at the plight ofthe villdgers
(a) (b) J
rendered homeless .by a devastating cyclone,/ No error. 'I

{c) CY

F |

3. Since it was his first election campaign, the candidate was confused;
@ 4 '
none could clearly understand “either the principles he stood for or the benefits he promised.

(b) V4 ©

No error.
@ >
4. Itis an established fact that the transcendental American poets and philosophers,
(a)
who lived in the latter half of the nineteenth century,
[ ®
were more influenced by Indian philosophy, in particular by Upanishadic Philosophy.
(c)

No error.
(@
5. No sooner did [ open the door  when the rain, heavy and stormy, rushed in
(a) (b)
making us shmver from head to foot. No error.

(©) (d)

B-PFCA-O-JCV - A 2
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6. After opening the door we entered into the room  next to the kitchen. No error.

(a) (b) )y (d)

7. When the dentist came in  my tooth was stopped aching
(a) (b)
out of fear that I might lose my tooth. No error.

(c) (d)

8. Emphasis on equality of life ensures  for the health and happiness  of every individual.

(a) (b) (¢) 4

L

No error.

(d)

9. The students were awaiting for the arrival of the chief guest. ; No-error.

(@ (b) ©) 7 @

10. You will come to my party tomorrow, isn'tit? No ervor.

@) - ® | @

11. Having read a number of stories  about space travel | __,_-’:
(a) (b) ’
his dream now is about to visit the moon, No error. |

(©) "y (@)

12. The meeting adjourned abruptly . by the Chairman after  about three hours of deliberation.

(a) (b) (c)

No error.

@ v

13. Not one of the hundreds of striking workers  were allowed to go near the factory.
@ () (©
No error. {

(d) |

14, If Lhad known | this earlier I will have helped him. No error.
(a) (b) (c) (a)

15. M-r.. Smith was accused for murder  but the court found him not guilty  and acquitted him.

(a) (b) (c)

No error.

(d)

3 A - B-PFCA-0-JCV
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Sentence Improvement

Directions :

Look at the underiined part of each sentence. Below each sentence arc given three possible
substitutions for the underlined part. If one of them, (2), (b) or (¢), is better than the underlined
part, indicate your response on the Answer Sheet against the corresponding letter (a), (b) or (c).
If none of the substitutions improve the sentence, indicate (d) as your response on the Answer
Sheet. Thus a ‘No improvement’ response will be signified by the letter (d).

16. Although India is still by far a poor country,
1t can become rich if its natural and human
resources are fully utilised.

(a) few and far between
(b) by and large
(c) by and by

(d) No improvement

17. The more they earn, more they spend.

(a) More they earn, more they spend
(b) More they eamn, the more they spend

(c) The more they earn, the more théy
spend

%, k

(d} No improvement b ¢

18. Butin all these cases conversion from one

scale to another is easy because scales
have well-formulated.

(a) can be well-formulated
(b) are well-farmulated
(c) well-formulated
i
(d) No improvement
19. Five years ago on this date, I am sitting in

a small Japanese|/car, driving across Poland
towards Berlin.

(a)y was sitting
(b) sat
(c) have been sitting

(d) No improvement

B-PFCA-O-JCVY - A

20.

f21.

22.

23.

#(d) No improvement

The old man felled some trees in the
garden with hardly no effort at ally’ »

(a) hard effort
(b) hardly any effort ’
{c) a hardly any‘effort

She says she’s already paid me back, but
L can’t remember, so I’il have to take her
word.

(a){“' to také her word true
(b) to take her at her word
(c) to take her word for it

(d) No improvement

The workers are hell bent at getting what
is due to them.

(a) hell bent on getting
(b} hell bent for getting
(¢} hell bent to getting v

(d) No improvement

You are wamned against committing the
same mistake again.

(a) tocommit
(b) for committing
{c) against to commit

(d) No improvement

www.examrace.com




24.

25.

26.

27.

While we would like that all Indian children
to go to school, we need to ponder why
they do not. _ :

(a} that all the Indian children
(b) if all the children of India
{c) all Indian children

(d) No improvement

Due to these reasons we are all in favour
of universal compulsory education.

(a) Out of these reasons
(b} For these reasons

(c) By these reasons

(d) No improvement a -
When it was feared that the serfs might go
too far and gain their freedom from
serfdom, the Protestant leaders joined the
princes at crushing them. |

(a) into crushing
() in crushing |
{c) without crushing

(d) No improvement

In India, today many of our intellectuals
still talk in terms of the French revolution
and the Rights of Man, not appreciating
that much has happened since then.

28.

29,

30.

(a) much has been happening .
(b) much had happened
(c) much might happen

(d) No improvement

Taxpayers are to be conscious of”thetr
privileges. .

(a) haveto
(b) ,need
(c) oughtto

d) No improvement

I
i ¥
.

F |

I would have waited for you at the station
if I knew that you would come.

(a) had known
(b) was knowing
(¢} have known

(d) No improvement

No one could explain how a calm and
balanced person like him could penetrate
such a mindless act on his friends.

(a) perpetuate
(b) perpetrate
(c) precipitate
(d) No improvement

A — B-PFCA-O-JCV
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Ordering of Sentences

Directions :

31

32,

In items in this section, each passage consists of six sentences. The first and the sixth sentences
are given in the beginning as S1 and S6. The middle four sentences in each have been removed
and jumbled up. These are labelled B, Q, R and S. You are required to find out the proper order "
for the four sentences and mark accordingly on the Answer Sheet.

S1: At the roadside the driver will be

asked to blow through a small glass
tube into a plastic bag.

S6: The driver will be asked to go to the
police station.

P : And if the colour change does not
reach the line the driver cannot be
punished under the new law.

Q : Inside the tube are chemically treated
crystals which change colour if the
driver has alcohol on his breath.

R : But if the colour change does reach
the line then the test has provéd
positive. : -\ A

S : If the colour change goes beyond a
certain line marked on the tube this
indicates that the driver is probably
over the specified limit.

The proper sequence shouid be

a) PSQR y

(b) SQRP “4

) RPSQ |

(dd QSPR

Sl: Hope springs eternally in the heart of
man.

S6 This is the central idea of the poem.

P : But hope is everlasting.

Q : Love, friendship and youth perish.

B-PFCA-O-JCV - A

33.

(c) RSQP

R : It is nursed by the glorious elements
of nature. {

L

S : Man derives hope from nature in his
gallant struggle after some noble »
ideal.,

Th_e properisequence should be
@), QPRS
(b) SRQP

@/ QPSR

SIt "Mr Sherlock Holmes and Doctor
Watson were spending a weekend in
a Umversity town.

56: It was clear that something very
unusual happened.

P . One evening they received a visit
from an acquaintance, Mr Hilton
Soamnes. :

Q ¢ On that occasion he was in a state of
great agitation. _

R : They were staying in fumished
rooms, close to the library.

S : Mr Soames was a tall, thin man of a
nervous and excitable nature.

The proper sequence should be
(a) PRSQ
® RPSQ
(¢) PQRS
(d RPQS
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34,

St: The machines that drive modemn
civilisation derive their power from
coal and oil.

S6: Nuclear energy may also be
effectively used in this respect.

P : But they are not inexhaustible.

Q : These sources may not be exhausted
Very sooil.

R : A time may come when some other
sources have to be tapped and
utilised.

S : Power may, of course, be obtained in
future from forests, water, wind and
withered vegetables.

The proper sequence should be

(@ PQRS

®) QPRS

{(c) SRQP

(d SPQR

S1: The body can never stop.

"
S6: It comes frt;m food.
P : To support this endless activity, the
body needs all the fuel for action.

Q. Sometimes it is more active than at
other times, but 1t is always moving.

R : _Even in the deepest sleep we must
breathe.

S : The fuel must come from some-
where.

36.

The proper sequence should be
(a) PQRS
(b) PRQS
(c) QRPS

d SRQP 7

St: American idealism is essentially a
belief in the idea of progress.

47 S6: This sense they have inherited from

the English.

P Thereforc he believes that, because
of human eftort, the future will be
better than the past.

|

Q: But if Americans are usually
optimistic, they are not wholly
unrealistic.

R : The American tends to view history
as a record of human achievement.

S : They have some common sense
practicality.

The proper sequence should be
(@ PQRS
) PQSR
(c) RPQS
(d PRQS

A - B-PFCA-O-JCV
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Selecting Words

Directions ;

In the following passage at certain points you are given a choice of three words marked (a), (b)
and (c), one of which fits the meaning of the passage. Choose the best word out of the three.

Mark the letter, viz., (a), (b) or (c), relating to this word on your Answer Sheet. Examples K and
L have been solved for you.

K L y,
The (a) boy  was in the school in Simla. (a) She was home sick. -8

(b) horse (b) It !

(c) dog - (c) He

Explanation : Out of the list given in item K, only ‘boy’ is the cofrect apswer because usuaily, a
boy, and not a horse or a dog, attends school, So ()’ 1s t0 be marked on the Answer Sheet for
item K. A boy is usually referred to as ‘he’, sg “for item L, ‘(c)’ is the correct answer. Notice

that to solve the first item K you have to read the rest of/the sentence and then see what fits
best.

| J
i i

Passage 7 4

After having slept for an hour, Band decided to go qut-iﬂto the city and try to find his contact.
After changing his suit, he carefyllyl_locked his room and stepped out of the hotel. No one was

w 37.
around. But he had walked enly for a few minutes when it suddenly (a) felt to him

(b) occurred
(c} happened

38. 39,
that he was being (a) followed by someone. There was reallyno  (a) reason for
- (b) shot (b) cause
#45 “(c) looked (c) evidence
|
' 40, 41.
it except a very slight  (a) weight of footsteps. He was now walking  (a) from the
(b) sound (b) down
(c) hurting : (c) over
42.
man street, which was crowded (a) with people. He became extremely aware of the danger
(b) by
(c) in
of people threatening him. N
B-PFCA-O-JCV - A 8
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Synonyms

Directions :

43.

44,

Each item in this section consists of a sentence with an underlined word followed by four words
or group of words. Select the word or group of words that is most simifar in meaning to the

underiined word,

He was fired for negligence on duty.
(a) relieved of his job
(b) scolded

(c) rebuked

(d) attacked

Democracy is not the standardising of
everyone so as to obliterate all peculiarity.
(a) demolish

{b) extinguish .

{c) erase

(d) change

-

48.

46.

.llll

< Anionyms

Directions : ¥ U

47.

48.

Divine grace is truly ineffable.
(a) that which cannot be rubbedout
(b) incapable of being understood

(c) that which is too great {0 bL
expressed in words'

{d) too powerful to be defeated

The convocation address was very
_edifying. '

(a) tedious

{b) inneed of editing

(c) instructive

(d)" xciting,

|

Each item in this section consists of a sentence with an underlined word, followed by four words.
Seiect the word that issmost nearly opposite in meaning to the underlined word.

John is always m dressed.
(a) decently

{(b) beautifullﬁi “

(c) extravagantl;'f

(d) scantily |

The new manager jof the Bank is urbane in
hisimanners.

(a) ‘givilised

(b) slow

{c) rude

(d) foolish

49.

50.

It is necessary to develop thrifty habits to
be able to lead a comfortable life.

(a) expensive
(b) extravagant
(c) economical

{d) good

Many people suffer because of pride.

(a) lowliness
(b) submission
{c} humility
(d) obedience

A — B-PFCA-0-JCV
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Directions :

PART -B

54, Statement [

The following &8 (Eight) items consist of two

statements, Statement I and Statement 11. You

are 10 examine these two statements carefully
and seiect the answers to these items using the

code given below :
Code :

(a) Both the statements are individually
true and Statement II is the correct
explanation of Statement I

(®)

Both the statements are individually

true but Statement 1l is not the
correct explanation of Statement I

(c)

1s false

(d)

18 true

51. Statement I

Statement II

52. Statement [

Statement 11 :

Statement [ is true but Statement 11

Statement [ is false but Statement 11

: Growth of plants Wis,

smooth with a complete
fertilizer. Lo

A complete, fertilizer
always contains N, P, K.

: The granules of modem _

gunpowder | (also called

black powder) are
' dypically coated with

Graphite.

Graphite prevents the

53. Statement I

Statemént I]

At

build-up of electrostatic
charge.

: Colour of nitrogen dioxide

changes to colourless at
low temperature.

low temperature
Nitrogen tetroxide (N,O,)
is formed which is
colourless.

B-PFCA-O-JCV - A

Statement 11

55. Statement [

Statement 11

f .56. Statement I

| I
i ¥
.

F |

Statement 11

57. Statement I

Statement II :

58. Statement 1

Statement 11 :

10

: Diamond is very bright.

: Diamond has very low

refractive index.

: Oxygen gas is egasily

produced at a faster rate
by heating a mixtuse of
potassium. chlorateé and
manganese dioxide than
heating potassiumn chlorate
alone.

: Manganese dioxide acts

as a negative catalyst.

: A body weighs less on a

hill top than on earth’s
surface even though its
mass remains unchanged.

¢ The acceleration due to

gravity of the earth
decreases with height.

: While putting clothes for

drying up, we spread
them out. ‘

The rate of evaporation
mcreases with an
increase in surface area.

: Due to diffused or

uregular  reflection of
light, a closed room gets
light even if no direct
sunlight falls inside the
roont.

Iregular reflection, where
the reflected rays are not
parallel, does not follow
the laws of reflection.
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59.

61.

62.

Ultrasonic waves of frequency 3 x 105 Hz
are passed through a medium where speed
of sound is 10 times that in air (Speed of
sound in air is 300 m/s). The wavelength
of this wave in that medium will be of the
order of

(a) lcm
(b) 10cm
(¢} 100cm

(d) 0-1cm

If radius of the earth were to shrink by

. 1%, its mass remaining the same, g would

decrease by nearly
(a) 1%
(b) 2%
{c) 3%

d 4%

T k

The displacement-time graph offajparticle
acted upon by a constant force is

(a) astraight line
(b) acircle \
{c) aparabola 4

(d) any curve d,lepending upon initial
conditions

Which one of the following is not a result
of surface tension ?

{a) Nearly spherical drop of rain

(b) I' Capillary rise

(c¢) Removal of dirt by soap or detergent
{d) Flow ofa liquid

B-PFCA-Q-JCV — A
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63. Match List I with List II and select the

correct answer using the code given
below the Lists :

List I
(Compound)

List 11
(Nature)

A. Sodium hydroxide 1. Strong ‘acid

B. Calcium oxide 2. Alkali ¢
C. Acetic acid 3. Weak acid
D. Hydrochloric acid 4. Base

A Code”

@ 1 3 4 2

64. Which one of the following statements

is mot correct ?

(a) Kerala is the largest producer of
natural rubber in India

(b) Neyveli is an important thermal
power generating area of Tamil Nadu

(c) Ratnagiri Bauxite mining area is
located in Karnataka

{d) Assam is the largest tea producing
state in India
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60.

61.
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65. Match List I with List II and select the
correct answer using the code given

below the Lists :

List 1
(Paper industry
centre)

A. Kamptee

B. Rajahmundry

C. Shahdol
D. Belagola
Code :
A
{a) 1
(b) 2
(c) 1
(d 2

66. The newly formed state of Télehgana 1S
surrounded by

(a) 5 States
(b) 4 States
{c) 6 States
{d) 3 States

67. Energy is required for maintenance of life.
It is obtained by a process called

3

4

A

alf

(@) Metabolism

(b). Phagocytosis

List II
(State)

1. Karnataka

2. Maharashtra
3. Andhra Pradesh

4. Madhya Pradesh

4

3

(c) Photorespiration

(d) Decomposition

B-PFCA-O-JCV - A
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68. All life forms contain “molecules of life”.
These are

69.

70.

(a)

(b)

(c)

(d)

Carbohydrates
Proteins -
Nucleic acids

All of the above ¥y

If a charged particle (+g) is projected with

certain velocity parallel to' the magnetic

field, then it will

(a)

®

F |

w

(c)

|

(@

trace helical path

Jtrace circular path

continue 1ts motion without any
change

i

come to rest instantly

Optical fibres, though bent in any manner,
allows light to pass through. What is the
inference that one can draw from it 7

(a)

(b)

(c)

)

The concept that light travels in
straight path is wrong

Light can flow through the optical
fibres

Light can travel through the fibres
because of their ductility

Light can travel through the fibres
due to multiple total internal
reflections
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66.

67.
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(d) HIHA

68.

69.

70.

) ot w H R ¥ o § | Y
(a) TR

NOR: i

(c) il I
(@ SwF T

."I-..

ﬁﬁim&ﬁmwﬁé)@ﬁf‘m%%
Fabr o & wew wafia e s @,

(d) weerer foRmEen # 3 SE

WeRTIVe g, 918 9 St H AR E, H @
Ty TER Gl | s Far T
feepten < waT ® 7

(a) T8 "FeuA fF wewr Het @ d
e &, I ©

(b) WY, WHINE dg H | warfed ©f
AhdT & “

(c) TG HT AT & FRU TR ¥ AR
TSI IR GHAT 8

(d) =ga Qo Iais wEdT & FRO
W, Werlfies dat # & g T
T

A — B-PFCA-0O-JCV
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71. Which one among the following happens 75. Rain shadow effect is associated with
when a swing rises to a certain height from o
its rest position ? (@) Cyclonic rainfall
(a) Its potential energy decreases while (b) Orographic rainfall

kinetic cnergy mcreases (C) Convectional rainfall

(b) Iis kiryetic energy decreases while (d) Frontal rainfall
potential energy mcreases

(¢) Both potential and kinetic energy 76. Match List T with List II and.select/the
decrease correct answer using the code ‘given

below the Lists :
(d) Both potential and kinetic energy

increase List] List 11 ’
‘ (Place) (Industry)
72. Which one among the following is used A Jabalpur 1. Petro-chemical
in making gunpowder ? 4N “ industry
. B. Bengal
(a) Magnesium sulphate cn%a u 2. 1T industry
(b) Potassium nitrate ' C.'IIM?thura 3. Paper industry
(c) Sodium stearate D. Baltarpug/ 4. Automobile
) % 4 | industry
{d) Calcium suiphate
ay Code :
73. The cleaning action of soap and detergent
in water is due to the formation of A B C D
(a) Micelle L. @ 4 1 2z 3
(b) Salt ' &2
4 2 1 3
(c) Base 4 ©
: Ay d 3 1 2 4
(d) Acid 4 R

77. Which on¢ of the following irrigation

74. The chemical used as a fixer/developer in canals is the most important in terms of

photography is area coverage in Haryana ?

(a)_ Sodium sulphate (a) Bhakra canal

(b) “Sodium sulphide {b) The Western Yamuna canal

(c}) Sodium thiosulphate (© Jawahérla] Nehru canal

(d) Sodium sulphite ' (d) Gurgaon canal
B-PFCA-O-JCV — A 16
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71.

72.

73.

74.

SE AR A o fRmmEenr @ R

fofeas 3o qa s @ A fafofm i 2

T T T g1 7

(a) T@H Foafe o o rdt @ w=fs
Tferst St gt

() TR T 3= =A A R =
feufes oot srgelt 2

(c) Tt sk afos o=t o=t ¥
Bl
(d) feafasr s afes S ot wett

FEg IE # Feafafea # @ foq & &
zedwTe T smat @ 2

(a) AMfygy goke
(b) wfiEm AR
(c) wifemm feemte
(d) Ffcram wehe

T k

oY 3 AT AR et aerﬁw'a;-a
i fres Pt zrr B © 2

(a) Praer
(b) &

(c) &RF (39)

(d) =

BT ¥, e (fer) /R
([ITR) F &9 H J9A0T B I @EA
FATR Y

(a) wiieawm ashe

(b)" wifeaw avwrze

(c) wifeaw graiaehe

(d) wifeam e

75.

76.

77.

17

- e frw @ wafRE R 7
(a) SshaTt aul
(b) T auf
(c) weaeeft aw
(d) = aut
qa”rlﬁlzﬁrn% e Akl it
FR gt % i A 52 = v =
T I M ;

_?ﬁ'ﬂ- Cxidl

(&) S | (za)
A. FHAR 1. 9Z1-TETed I
B.é:ﬁgs 2. IT =/
DiEgRe . 4 s IEm
F/

A B C D

@ 4 1 2 3

3 2 1 4

© 4 2 1 3

@ 3 1 2 4
ehRarm #, & R & e o frafufaa
s At ® & 39 @ w waihs
eyl ® ?
(a) WHEST TR
(b) T AT AR
(c) STEATEH HBE e
(d) T AR
A — B-PFCA-0-JCV
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79.

80.

Which one of the following is the smallest
unit showing the properties of life such as
capacity for metabolism, response to the
environment, growth and reproduction ?

(a) Gene
(b} Chromosome
(¢) Nucleus

(d) Cell

In plants, which one of the following gases
1s released during Photosynthesis ?

(a) Carbon dioxide
(b) Oxygen
{c) Hydrogen

(d) Methane

Match List I with List II and select the
correct -answer usipg the code given
below the Lists : {

List' Lg List II
(Physical quantity) (Unit)
1
A. Distance | 1. Mole
B. Amount of 2. Coulomb
material

3. Light year
C..Amount of

electrical charge
4. Watt hour

D. Energy

B-PFCA-O-JCV - A
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78.

81.

82,

Code :

@ 3 1 2 4
b 3 2 1 4
© 4 2 1 3

@ 4 1 2 3

A ray of light.when refracted suffers
change in velocity. In this context, which
one.among the following statements is
correct ?

{a) /Velocity increases as the ray passes
! J from a rarer to a denser medium

F |

() Velocity decreases as the ray passes
from a denser to a rarer medium

(c} Velocity decreases as the ray passes
from a rarer to a denser medium

(d) Change of velocity does not depend
on the nature of medium

An object is placed 10 ¢m in front of a
convex lens of focal length 15 cm. The
image produced will be

(a) Real and magnified
(b) Virtual and magnified

(c) Virtual and reduced in size

(d) Real and reduced in size
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78, fr=fafas & &= &t w, I &
e, wateRer % wiy smfn, afg sk
A A S F [ = g v gaw
TR 7

(a) 9N
(b) FAEH
(¢) Arfes

(@) FifsrEa

79, TIGl ®, Wy GIE & S fAamfafaa
Aot A @ 9 O o Reedi g ?

(a) FTeT SRATFTEE

(b) TR

() T "
(d) ¥ A

80. T I T 11 F drw g Hftg

IR gfaat & = fed 7@ g2 =1 wEw
Hﬁ?ﬁ?ﬁﬁ'@.:ﬁ‘

wr T
(sitfers afdr) | (5=t)
AZE | 1. e
B. ugrd & 7 2. FAM

C.ﬁgaaﬂawa?rnm 3, WeRTy a9

D. 3t 4. ale-sgT

19

@ 3 1 2 4
® 3 2 1 4
© 4 2 1 3

@ 4 1 23

81. I BA WX Wy hr fowr & 3w A
sfteds gar @ | 58 wedl #, Prafafas
PLEE LR SRR

(2) m%%mﬁmwﬁ
| T AR IR g @

(b) df@“{_ﬂr%'mmmﬁﬁmwﬁ
[ T S O AT HEAT 8

(©) fomr & fora mmam @ v e A
T & T A7 ¥2aT B

(@) I i gl wrem B v w ek
TE

82, Rl 15 cm e g1 A Ferer e 3 A
lOcmﬁ@W@ﬁﬁ@%lﬁﬁfﬁ
wife S g ?

(a) aTEafaE 3T smafda
(b) st sk st
(c) IATEl IR AHY H F=H
(d) TTElEs R 3w d =9

A — B-PFCA-O-JCV
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83. Why is Graphite used in electrolytic cells ?

(ay Graphite is soft and can be easily
moulded into electrodes

(b) Graphite is made of layers of carbon
atoms which can slide

(c) Graphite is inert to most of the
chemicals and remains intact in
electrolytic cells

(d) Graphite is a good conductor of
electnicity

84. Washing Soda is the common name for
(a) Calcium Carbonate
(b) Magnesium Carbonate
(c) Sodium Carbonate

(d) Potassium Carbonate :

85. Which one of the following Indian states

has the highest proportion of area under
forest cover ?

(a) Madhya Pradesh
(b) Sikkim |
(¢) Meghalaya

(d) Mizoram

86. Match List I with List II and select the
correct answer using the code given
below the Lists :

B-PFCA-O-JCV - A

_
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87.

88.

List I List II
(National Park/ (State)
Wildlife Sanctuary)

A. Chandra Prabha 1. Uttarakhand
B. Silent Valley 2. Chhattisgarh
C. Valley of flowers 3. Uttar Pradesh

D. Indravan 4. Kerala
Code : {
A B € p |
a) 2. 1 457 3
b 3 dia 1 2
© 2 4 1 3
dy 3 \ 4 2

ToA perpendicular to the plane of ecliptic,
EArth’s axié of rotation makes an angle of
237 degrees. Had this angle been zero
degree, which one among the following
would result ?

(a) There would have been no season

(b) The length of day and night would
have been the same throughout the
year

(c) The length of the day and night would
have been the same all over the earth

(d) All of the above

Gametophytes of sexually reproducing
flowering plants are

(a) Haploid
{b) Diploid
(c) Tetraploid
(d) Polyploid
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83.

84.

85.

86.

foRa - sramet A<t ¥ derge 1 IvgT i
BT 7

(a) e S BT § R I R
TS § T ST HeRd B

(b) FHTe, e F AT S oAl @
T B, W OF 99d ©

(¢) ¥wre sttty @A & wiy ffssg
o ? AR fr@-awwedt @ A
Fgom T R

() ez e = gaers @

13 1wy fra @ yfora am @ 7

(a) feirm Fmaiae

(b) AN FEie

(c) Wifeam wraiqe

(d) "fim FEAe

ol wrefta oot # & R w & am
&1 T I=HAH T B 7

(@) wea ma

o R |

(c). A

@ Frne

ga”";lﬁ gt 1 & @ gafw Aifag

3R gt & A 2 M 7 = i w
#E FR I

gl ] qH I
(Trev v / (T=a)
TSI YT )
A. T T 1. SRRIEUE
B. ArEeiE S 2. TR
C. g i = 3. J T
D. Tt 475w |
= , )
A B CID
@ 2¢( 1 4 '3
® 3 4! 1 2
(c)y 2 4 1 3
L@ 3 1 4 2
Eﬂ%ﬁﬁ%m%wgﬁﬁm@h
g 231 faft & Fo s 2| Ak w
1o g7 f@n g &t Freatafea § 3 =
g g ?
(@) HIE T Bt

() & 3R 7@ af R quE T=_E F @

(©) T 3R T it wward gt w welt
SATE @ Bt

(@) e &t

. i o AR I TR B R

(iteree) w1 € 7
(a) ST (Feiice)
() ferfor (fewriee)
(c) IR (gTeiieg)
@ sl (Teres)
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89. The seeds of flowering plants are made up
of

(a) Ovary and ovary wall

(b) Embryo, food reserves and coat

(c) Cotyledons

(d) Zygotes

90. A person stands on his two feet over a
surface and experiences a pressure F.
Now the person stands on only one foot.
He would experience a pressure of

magnitude
(a) 4P

) P

@ 2P

91. A solid is melted and allowed to ‘_clbol
and solidify again. The temperature is
measured at equal intervals of time. The
graph below shows the change of

temperature with time.

Temp. ' 4

The part of the curve that is practically

horizontal 1s due to

B-PFCA-O-JCV - A

Time

22

{a) latent heat given away by the liquid
(b) specific heat given away by the liquid

{c) thermal capacity changes with time
keeping temperature constant

(d) change in density during transforma-
tion

."I-.
v

. A deep sea diver may hurt his ear drum

during diving because of

~(a) lack of oxygen

(b) high atmospheric pressure

I
i

(cY¢ high water pressure

(@ All of the above

. When you walk on a woolen carpet and

bring your finger near the metallic handle
of a door an electric shock is produced.
This is because

(a) charge is transferred from your
body to the handle

(b) a chemical reaction occurs when
you touch the handle

(c) the temperature of the human body
is higher than that of the handle

(d) the human body and the handle
arrive at thermal equilibrium by the
process
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90.

91.

89. TN urgdt & i forw @ ffifg @ & 7

(a) ENE IR sEnm-fafy
by 9O, Tw e (e o) sk smem
(c) =iorTy

(d) FwAs

s e frdt gag W oaw 2F 8 W
T3 BT R 3R P g H AT FA L |
AT T% Afh Fad F R RGBT 2 |
g ferem o 1 g s w2

(a) 4P
by P

(© 3P

d 2P

T4 SWEga B fear s . @ne ww
SHRTAT G JHHT AT HIGT ST & | 7
fen T % w3 A A aRada
&1 gyfar 2

AN

"0 oy

Sy
rd

aF F IW 9W FI, A a9 A
Ao 3, FR TR ?

92.

93.

| | N

(a) I TR I[H FAT SISt ATl 8
) 77 g fafdre e @iE wdt

(c) FAT e, a1 F g @d T
g & ¥4 UiEhid gl ¢

) W%Waﬁvﬁ?ﬁh@m%

Tﬁmaﬂﬁm%ﬁiﬁaﬁt%ﬁaﬂ
et o o @ erfoore =t e € 2

_, @) aﬁﬁmrﬁaﬁ

(b) = A T
() 55 7 7=
@ Ik

I e S FT W g wHE S
I Y WA R o T oy & ¥feE &
g & TH 9@ O farga sree @
ThH FRUT FT R 7

(a) & WR d IRy e w
TETIRE B ST

() 39 TR e P W U Wt
sifirferar 2Y 2

(c) WHa IRR &1 auH Efea & arowe
# ot grem 2

(d) =@ WohH ® AT KR 3 Efea & wem
AT G & §
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94. Which one among the following does
not wet the walls of the glass vessel in
which it is kept ?

(a) Water
{(b) Alcohol
(c} Mercury

(d) Phenol

95.
presence of

(a) sulphates of sodium and potassium
(b} sulphates of magnesium and calcium
(c) carbonates of sodium and magnesium

(d) bicarbonates of magnesium and

calcium
96. In the reaction ZnQ + C — Zn + CO, €’
acts as q A
(a) an acid A
(b) a base

{c) anoxidising agelnt {

(d) areducing agent

&
¥
teristics of organic farming ?

[. Use of |chemical fertilizers to

improve soil fertility.

1 2. Frequent decomposing and fal--

' lowing.
3. Use of herbs to control pests.

- 4. Higher productivity per hectare.

B-PFCA-O-JCV - A

Permanent hardness of water is due to the -

Which of the f@llowing are the charac-

24

98.

99.

[ )

Select the correct answer using the
code given below :

{a} 1 and 4 only

(b)

{c) 2 and 3 only

1,3 and 4

@ 2,3 and 4

."I-.
v

“Yakuts’ are the nomddic herders of
(a) Gobi _
{b) . Sahara
(¢) .-.Tundfa

(@) Kalahari

|
»,

A-Efmner iﬁ a semi-arid area claims that
his farming practice is very environment
friendly. Which of the following practices
on his farm can justify his claim ?

1. Planting a tree belt.

2. Practising crop rotation.

3. Carrying out a large scale irmgation
system. '

4. Using organic fertilizers.

Select the correct answer using the
code given below :

(a) 3 and 4 only

(b) 1,2 and 4
(c) 1,3 and 4
(d) 1 and 2 only
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94.

95.

96.

97.

frrmfalaa & & =9 @1 U, 9 & 95 #,
o+ o 9% <@ giaT &, SR & A TE

FET ?

(a) ==

(b) Teehreler

(c} IR

(dy A

i ¥ TR Fowar feadl suferfy &
FRYT gt & 7 |

(a) GifdEm R TiEw & avhe

(by Ffimm stk Hfmm & wethe

(c) Hiftam st Hifew & FEte
(@) Fifima sk &fEmm ¥ smamEie
At Zn0+C - Zn+CO, #

frafofe § @ o = F =7 & &
FAT R ?

(a) ¥

© s’
(c) SHHEF
(d) FT=IH
S 3 B Bl 9 A i Pl
g7 | |

I gE oA @ e s & frg

ATt gre w1 A 17 |

2. IRAR FTEied AT (ShaifeT) 3R

|, TRt B

32m&maﬁﬁ%ﬁuaw%ganﬁaﬂ
AR ST |

4. IfT THRAR ST IATEHFAT AT |

25

98.

99.

qH @ T Fe F OWER R EEl TR
Ifa

(a) Fae 1 AR 4

(b) 1,3 &R 4

(c) wad 2 3R 3

(d 2,33k 4

FAER FET AT Fel F € 7

(a) Tl

(b) “Fer

O

) e

ot -y 8 7 U RFe T A
2 ffr Sueht g ugafy wafew & wga
FIFA ¢ | 8% g7 ) frmferiaa #§ 8 @
i ugufat T8 T =i 3T sgu awdi € 7

. &t Y AR AT |
2. FEAL & e WK A IRy oA |

3. 9¢ oM W faurE =gen swa A
Gl

4. SF ISP HT TAN HCT |

A A T g W W@ W gE S
I

(a) Fac 3 3K 4

() 1,2 3R 4

() 1,3 3T 4

(d) ¥ 1 3R 2

A - B-PFCA-O-JICV
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100. The luxuriant growih of natural vegeta-
tion in tropical rainforest is due to

1. fertile soil.

2. hot and wet climate throughout the
year.

3. intense sunlight for photosynthesis.

4. seasonal change to facilitate nutrient
absorption.

Select the correct answer using the
code given below :

(a} 1 and 4 only
(b) 2 and 3 only

(c} 1,2 and 3 only

(d) 1,2,3 and 4 .

101. Which endocrine gland requifes iodine to
synthesize a particular hofmone whose
deficiency may eause goitre disease ?

(a) Hypothalamus {
() Pancreasﬂ
(¢) Thymus "

(d) - Thyroid gland

102, Which one of the following is not a part
of nerves ?

(a) 'Axons
(b) Connective tissues

B-PFCA-O-JCV - A 26

103.

104.

105.

(c) Schwann cells

(d) Smooth muscles

‘The product of conductivity and resistivity
of a conductor

(a) depends on pressure applied

depends on current ﬂowing" through
conductor '

(b)

1s the same for all conductors

(c)

varies from conductor to conductor

(d)~

|We sise CFL to save electrical energy and

to provide sufficient light. The full form of
GFLis -
(2) Condensed filament light

(b)

Compact filament lamp
Condensed fluorescent lamp

Compact fluorescent lamp

When the sun is 30° above the horizon,
shadow of one tree is 17-3 m long. What
is the height of this tree ?

(@ 20m
®) 17-30m
) 10m
@ 1-73m
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100.

101.

102.

SwiEfeatiy aufaq # wrrfow aeeafa
sreafus gig =1 $rm

1. S9F eI 2 |

2. T T AR A Ferarg # |

3. wei-gw % fg g = dw
TE B |

4. TRl & Hgwmw & foq e
afEda ® |

TR R ™ g W oW W OaE S
e

(a) e 1 3K 4

(b) Fae 2 IR 3

(c) Faa 1, 2 3R 3

@ 1,2, 3 34

& Prfire T A, R wi T

(TR 30T B T B, Fifiaa ¥ R
fra swE (Rem) 3fy o s
H FATHAT Bl 2 7,

(a) FUTTH (Eﬁtﬁﬂﬁw)‘

o)  FweE (HRram)

(c) ar=zHd

(d) sEguty ((aries ufy)

fafaflaa # & % o1 = a1 s

T 7
(a) 3Erag
(b) WA FaF

27

103.

(c) AT HYETETT

(d) =g ufimt

Tl =Teer Y STt AR wiaeerar =1
TUARA FT BT § 7

() a8 VAT T W PR e &

b) T8 e Ayl g W AR
TG

(c) | =TeRRl % fam R 2

A m—mmﬁ HERT-HeT BT &

104.

105.

fagm Id:\ﬂl'ﬁ S9q FH I TAH TEH
T T CFL 1 I ¢ € | CFL
N RLET FTE 2

(a) | Freree Tohermie A9
(b) Fhdaz frawie 3w
(c)‘a@i%wﬁfﬁ{ﬁw
(d) FHFE FIRIT 49
v g et & 3005w B 1w g

BT 173 m = T | 39 gy & IR
T E ?

(a) 20m
(b)

(©)

17-30 m

10m
(d 1-73m

A — B-PFCA-O-JCV
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106. When heat rays are reflected from Earth,
gases like Carbon dioxide, Nitrous oxide
do not allow them to escape back to the A B C D
space causing our planet to heat up. These
gases are known as

Code :

(a) 4 | 2 3

(a) Noble gas ® 3 2 1 4

(b) Green-house gas {¢) 3 4 1 2

d 4 2 1 3 -
(c) Hot gas d y

L

109. Which of the following statement§ with
regard to the westem-coastal plain of India
are correct ?

(d) Blue gas

107. A spring can be used to determine the
mass m of an object in two ways : (i) by L. It is a narrow belt.
measuring the extension in the spring due . . ' :
to the object; and (ii} by measuring the 2 It is an example of submerged
oscillation period for the given mass.

(a) Both

(d) Neither

below the Lisﬁ :

B-PFCA-O-JCV - A

{b) Only the extension method

Which of these methods can be used in a
space-station orbiting Earth ?

-

(c) Only the oscillation methddf

108. Match List I with List 1I{and select the
correct answer using the code given

28

¢oastal plain.

| 31t provides natural conditions for
4 development of ports..

A. Tt has well developed deltas.

Select the correct answer using the
code given below :

(8 1,2 and 3 only
(b} 1 and 2 only
{(c) 1,2, 3 and 4

(d) 3 and 4 only

ListT “4 List II
(Region) | (Vegetation) 110, Which one of the following weather
) conditions indicates a sudden fall in
A. Selvas . Conifers barometer reading ?
B. Savannas . Mosses and (a) Stormy weather
. Lichens
C. Taiga (b) Calm weather
; . Epiphytes
D. Tundra (¢) Cold and dry weather
. Grasses and
trees (d) Hot and sunny weather
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106. 5 it Rt gt & woafia 25 &

107.

108.

I e safe § T o o, fas
FRO BHT A TR BT OB A AT
FEAET B ?

(2) IFE (Ferer)
(b) WH-ggE A9
(c) oW A%

(d) it (=g )

et aeg 1 g mwT w1 F B wm
FATAT T IR A WhR & FFam s wahar
 : () 95 F w0 A F ame freaw #
9T ;3R (ii) 72 93 gomm & Sem
el T ATIH & | Gt Y her F aigwr
w9 foret siafg-ehw A = ol
| Tt =7 v fran s wee @ 2 .

@
() e Freare iy ”'
(c) ¥ g fafdy
OREGIEE LI
T LW OGN F g gafm i
ﬁt@ﬁﬁ%ﬁ%ﬁanﬂ?mmaﬁ
Tét I AR :

LRS! I I

(&) (satay)
A. T 1. ¥33% |
B. G 2. W SR A
C. & 3. aftrrgw
D.g¥ 4. &g 3R 34

% -
A B C D
(@ 4 1 3
b) 3 2 1 4
(c) 3 4 1 2
@ 4 2 1 3

100, ¥RT ¥ oSl wdm Rem & oA @

110.

frfafes wumt # @ @ v € ¢
1. T UuF sl 9gt 2 |

2ll_ﬂgﬁwwa€iuﬁmawuﬁ3w
A

JH%WFFI%%W%%QW.
" asnt{maw%|

ﬁ.%ﬁﬁgﬁmﬁah%

9 2 W g2 w1 W W I
TR

(2 a1, 2 9K 3

(b) Faa 1 3K 2

(©) 1,2 33R4

(@) Fa93 3R 4
ﬁw%f@aﬁﬁﬁm@qﬁwaanﬁ
IR F wTe § T w9 et & 7
(a) THEF e

(b) T HEw

(©) aﬁaaﬁrgﬁlﬁm

(@ o 3R guaTen Wew

A - B-PFCA-O-JCV
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111. Match List I with List II and select the In which one among the following lettered

correct answer using the code given areas of the diagram would erosion most
below the Lists: likely change the shapes of the riverbed ?

List I List IT (a) A

(Island) (Location)
B
A. Continental island 1. Mauntius ®)
B. Coral 1sland 2. Madagascar © C y
C. Volcanic island 3. Andaman (d D
and Nicobar
o islands

D. Mountain island 113. Match List T with List 11 and select the

4. Maldives cortect answer using the code given
' ~ below the Lists :

Code :
List I List II
A B C D \ (Cloud) {Characteristic)
(a) 2 4 1 3 : ACirrus # 1. Rain giving
- |
b 2 1 4 3 { B.!Stratus 2. Feathery
Y . appearance
@ 3 1 4 2}y C. Nimbus
3. Vertically
d 3 4 1 2 :
@ D. Cumulus growing
4. Horizontally
spreading
Code :

@ 3 1 4 2
® 3 4 1 2

€ 2 4 1 3

d 2 1 4 3
B-PFCA-O-ICV - A 30

www.examrace.com




HL = 1R g 11 F @9 gafm ik

I gt & A3 0@ @ gz 5w R
HE IW G

kil g1

(§r) (vrafeata)
A. WETRET g 1. #iwE
B. YTl 24 2. HEATER
C. TRl g9 3. 3izAM IR
D. vt g Eﬁwﬁq
| 4. TERE
T2 :

A B C D

{a) 2 4 1 3
(b) 2 1 4 3
{¢) 3 1 4 2 : Y

(d 3 4 1 2

112, 2 Y T M = e Bhe

113.

]

W ARG &, "4 f&u o seifra N T @
g T ¥, e SRET §RI Aa) 9
srpfaa | afkada g i wattas aumEa
27

(a) A
(b) B
() C

d D

gL F g 1 & i gafoa fifm

£ ik gt & = R W g vEh R
et IR g
Eﬁﬁl iRl
(3) (Fadream)
- 1, st 3 e
B. @l 2. foszwmm (Hed)
STfet
C. autay
3; Fmf 3ig
D. STt
4. 8w dema
Hc:
A B C D

31

(a 3 1 4 2
b 3 4 1 2
© 2 4 1 3

@ 2 1 4 3

A - B-PFCA-0O-JCV
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114. The concept of demographic transition 117. The Sun is observed to be reddish when it
provides a model for , 1s near the horizon, 1.¢., iIn the moming and
the evening. This 1s because

(a) analyzing government responses to
changing pattern of population growth (@) red light 1s least scattered by

atmosphere '

{b) explaining major patterns of global '
population movement th_roughout (®)

) red light is most sqattered by
the history

atmosphere 4

(c) analyzing spatial variations in the
distribution, growth and movement
of population over time

(c) it is the colour of the Sun in the
moming and evening

(d) examining the relationship between @ .Earth Ratndsphere emits red light

economic development and natural

population change . .
118.! Thermal conductivity of alumimium,

‘copper and stainless steel increases in
115. Precursor of which one of the following Whgorder
vitamins comes from f-carotene ?

.4 {a) Copper < Aluminium < Stainless Steel
(a) Vitanlln A &%, L !

T (b) Stainless Steel < Alumninium < Copper
(b) VitaminC 1

(¢) Alumimium < Copper < Stainless Steel
(c) VilaminD

(d) Copper < Stainless Steel < Aluminium

(d) Vitamin K
oy

alf

“4 , . 19. irati Is the body b
116. ‘Lub-dup’ sound is produced due to action 119. Perspiration cools the body because

“f I . (a) presence of water on the skin is

(&) Large intestine cooling

() Lungs (b) evaporation requires latent heat

(cj Heart ‘ (¢} water has a high specific heat

(d) Oesophagus (d) water 1s a poor conductor of heat
B-PFCA-O-JCV - A 32
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114,

115.

164"

Fiferha vl gweaA R &
ot o= witea vem F=adt @ 2

(a) el glg & Tqa gC @ET & id
TR il =1 fawew e

(b) EE F QR A fawm e
A & THE €691 ! ST FAT

(c) W & um, Taen & faawm, 9fg
AR w9 # wifie Tt o
fargem s

(d) = Fem ok ke SwEen
giads & ay weey Y JiE S

frafafen frafimt & 3 /e w =
FIATH B-HFUET | W Bl @ ?
(a) f\HETﬁFIAJ
(b) feifim C
(c) fefimD

) FEfm K
' 4

-39 aﬁ%&aﬁﬁm%wm
Biat & 7 .

(a) /St &

(b) | HES
© T
(dy TG
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117.

118.

119.

s g fafos & frwre Stan &, aafq q=e
R TR F, 79 q€ oAt Ik Tewd
2 | THEHT FRO AT ?

(a) R WY & TEHEH TR <[AAH
wehtof giar

(b) T IS HV AGHG TR gafrd—qq

(c) H=% 3R w9 § gF 71 &L T BT

(d)., AT T qHHSH AT UHTY oAt

Xl

qgﬁﬁm AR AR TR T W
mimm%ﬂwﬁaﬁ%?

(a) 'm‘a<qqﬁﬁw<sﬁ1ﬁﬁm
(b) SR TEIE < wefifm <am
(¢) UgtHfm <am < St e

(d) T < TR TG < vyt

TEMAT SR & IV oAl B, Hife
(a) AR G Y WG Sitaear Sa @

) adiEa & fog m owww &
IS Bl B

(¢) Tt At frfire o 9= Bt 2
(d) T FSAT 1 B AT B

A - B-PFCA-O-JCV
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121.

122.

B-PFCA-O-JCV - A

120. The radius of the Moon is about one-fourth

that of the Earth and acceleration due to
gravity on the Moon is about one-sixth that
on the Earth. From this, we can conclude
that the ratio of the mass of Earth to the
mass of the Moon is about

(a) 10
(b) 100
© 1,000
(d) 10,000

Which of the following country/countries
successfully inserted a spacecraft into
Mars’ orbit by matden attempt ?

(a) USA
(b) USA and Russia
(c) India V4

(d China

The FEuropean |Space Agency (ESA)
successfully landed a spacecraft on a
speeding comet that lies 310 million miles
away from Earth.’Ass ajresult, the scientists
may find out f

(a) . the age of the Sun

(b)

the age of the Universe

(c¢) new fundamental atomic particles

(d)

the role of the comets in bringing
organic matter and water to Earth

34

123.

124.

r

Who among the following Nobel laureates
has recently announced to put his Nobel
Medal under auction ?

(a) Kailash Satyarthi

(b) J D Watson

(c) Mikhail Gorbachev

(d) Jody Williams 4

Which one  among the following
statements with regard to a climate deal
adopted between USA and China in

4 November 2014 is not correct ?

125.

(a) China committed to cap its output of
carbon pollution by the year 2030 or
|, garlier

(b} #China committed to increase its use

of zero emission energy to 20% by
the year 2030

(¢) USA agreed to reduce its emissions

by 26% — 28% below its year 2005

levels in the year 2025

(d) Both the countries agreed to com-

pletely phase out coal technologies

by the year 2020

Which one among the following books
is centered around ‘environment’ ?

(a) The Late, Great Planet Earth
(b) Silent Spring
(c) Here I Stand

(dy And Then One Day
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120, <51 it Brown gt i Broan @ e o-
o & o Jgmn W Tl =R gz R
& TEetT RO T IR BT e
THH B T S A T SGHT & G
# T FT AT o H e frae
GETIE

(@ 10

(b) 100
(€) 1,000

@ 10,000
121. fefafen & & 3= & w290 % wuw

WAt A € saier am St wweaT g Wi
U il weT § 1@ T 7

(a) % TH. T
b 7. W@ T SR &
(c) WRd

@ =

122, I siafie Qo (ESAY R @ sk

I & T AHH g W), W gt
# 310 faform M & gt R, aweags

FART | T TRV W&, 3 Far aan

T TEA 7 ;
(@) T F 3y

(B) I = g
(&) TR, T80 AT

@) T T SR ST w g | At #
Rt ht T

123, Frafafea & & fra e weER fomr 3
BT €1 H A AT Tqh Y HH FA
=TT H 7

(a) Ferer o’

124,

R A a1 o w A g

125.

@ e R

() st € A
(c) Tiramge mafEe

AR 20148 3,001, ¥R R & 19 50
ST aAld & fed # fafifa syat

(a) 99 a9 2030 aF I1 SEE TR 9
e euT & fte wt faaffa dn
r_.:-':%ﬁ AR TG % Forg g g

(b) =T ad 2030 7% O T INIA
o1l F START FY 20% =97 3 & fow
EEREFAS|

(c) . UE.T. ¥ 2025TF FTI Foquid
o€ 2005 % TR § 26% & 28% "N
T TR HT WA gIAT

(d) T A 2020 7 wraen SRRt
1 Pl T 3R 3 % forg T

R T p ey — 1
R FHfea g ?

(a) T ¥, Iz e aef

&) i e

() foor amd we

@ G
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126.

127,

128.

129.

Who among the following cricket players
has not died while playing a match ?

(a)
(b)
(©)
(d)

Wasim Raja

Phillip Hughes

Raman Lamba

Vijay Hazare

Which one among the following films
was conferred the ‘Golden Peacock’

award in the 45th International Film
Festival of India (2014) ?

(a) Ek Hazarachi Note
{b) A Short Story
(c) Leviathan

(d) Ajeyo

b [t

Which cne among the following films was -

awarded the best motion picture (Drama)
in the 72nd Golden Globe Awards?

(a)
(b)
(c)
(d)

The Theory of Everything
Bovhood ; ..-

Still Alice

&

Birdman >
1

East Zone won the prestigious Deodhar
Trophy cricket tournament 2014-15 by
defeating

(a)
(b)
(©)
(d)

South Zone
‘Central Zone
West Zone

North Zone

B-PFCA-O-JCV — A
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130.

131.

132.

Which one of the following books won
the Man Booker Prize 2014 ?

(a) History of the Rain
(b) The Lives of Others

(c) The Narrow Road to the Deep North

F i
¥

(d) How to be Both

The Second Five Year Plad that called
for_the establishment of Socialist pattern

cof society was commonly referred to

as the

(a) Harrod-Domar Plan

! |

(b) Mahaldhobis Plan

|

(c) Nehru Plan

(d) Peoples Plan

Harappan crafts display an amazing
degree of standardization. According to
Kenoyer, what was the possible reason for
such an achievement ?

(a) Availability of raw materials at local
level

Centratized markets for crafis

(b)

(c)

Specialized training centres for
crafismen

State control

@
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126.

127.

freafirfe 3 & 9 & frde Rt S g
A5 e T A R 7

(a) <M T
(b) THfera g
() T @
(&) Frem g

WA & 459 Iy e 99RiE (2014)
A et et 4 @ sl @ ==t

128.

129.

/(@) =&

(a) TF AR Al
(b) T @
(c) e

@ ;R

Frafofam & & frr @ frer 3 723

(gm1) 1 qRERR o w7 -

(2) T fradt ot qadfim ©

(b) =IHERS .

() feemr Ofera |

T 3 R R g e
201415 Tra Y qufora o Sftan ?

(a)| felt A=

(b) FEA A

(c) Tfeslt 9

(d) Td T

37

130.

131.

Frafafea & @ foa v o= & 2014
T qER WEA UeF fenar v ?

(@) feret afw f2
(b) & wgem s sred
() e Rz g’ Sy 7o

."I-..

@ TSZ =

et g=avia ae =, e o &

._;,fmmﬁwwﬁmmﬁ,

132,

W AR R T wET AT 9T ?
() ngraaaﬁww
(c) AeE T

(@ ¥ A (iged <)

geoq I gEOeRt. AEdeE & &
A & wefifd @t g | e %
IER, TA TG FI ITATH H THT FR
qT 0 7

(a) FH WA i TIHIE WL W qTan
(b) TEER F fou Fsiga FWR

(c) =wRI % foy fradiga wfiemr oy
(d) T feo
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133. Consider the following statements about

134.

Ashokan rock edicts :

I. Major Rock Edict XIII records
Ashoka’s remorse at the sufferings
caused by his Kalinga campaign.

2. Major Rock Edict X records
Ashoka’s visit to Lumbini.

3. Major Rock Edict XII refers to
Dhamma Mahamattas as a new

category of officers instituted by
Ashoka.

4. Major Rock Edict XII speaks about
showing tolerance towards all sects.

Which of the statements given above
are correct ?

(2) 1 and 4 only
(by 2and3 l
(c) 3 and 4 only

(d) 1,3 and 4

Which one of the followingfis the common
element among Rajagriha, Vaishali and
Pataliputra ?, y
-
(@) Pali canorjof] the Sthaviravadins
was compilgd there

(b) Ashokan Major Rock Edicts were
found there ‘

(¢) Places where Buddhist Councils

' were held

(d) Places associated with the compila-
tion of Buddhist canons of the
Mahasanghikas

B-PFCA-O-JCV - A
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135.

136.

Which one among the following sects was
associated with Gosala Maskariputra ?

{a) Vajrayana
(b) Ajivikas
(¢} Sthaviravadins

(d) Mahasanghikas |

Consider the following statements about
the early modem technology in India :

1. The Portuguese brought European
movable metal types to Goa in 1550.

2 The first Indian script of which types
¢ were prepared was Tamil.

3. The English Company’s first experi-
ment with printing press was at
Calcutta.

4, The English Company imported
printing press to India in 1674-75 at
the request of Bhimji Parak.

Which of the statements given above
are correct ?

(a) 1 and?2only
(b) 2Zand3
(c) 3and 4

{(d) 1,2and4
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133. 3% & firemelgt & ar # Feafafag
Fam1 )RR fif .

1. 7@ fyeem XU At & i
Ffiam & FRw g Il & gu 96
war <t Affferad s@ ® |

2. wiy@ R X s $i Jfar $i
7 & afifaRe s @ |

3. wipe fyamera X1 sy gr st
T G T % siftria, e wgvmi
&1 fafde awar &

4. w@ Ty X1 e+ gt & 7fy
TgAtear fogm # FEar |

IT # A IR A e G E 2

(2) Fad1 3 4

(b) 2 3R 3 | ¢
(c) a3 3K 4 \

(d 1, 33R4

134. Terge, et sigaeforgs & Frmfolea #

? F T OF TR

(@) wafRd moal wen e
THfeT g A1 |

() | st 3 g et 7@t 1t 7
(c) ﬁ%w%?ﬁaﬁﬁﬁ%@ﬁ

(@) 3 v e & Sig adaA %
Uhel & Hatta &

39

135. frafafaa & @ a9 a1 s dwem o=
AR 4 TeEita § 7

(a) AT

(b) it
(c) waRad
(d) =BTt

136. ¥ # 9 Sl R F TR
ﬁﬁr%ﬁaa'qm‘rq?ﬁaﬁaﬁﬁu

1. T 1550 # A9 <@ a1 e
| T & T | \

o, afiret 4t |

3. RN wE &7 g & O
TAN HAHT H AT |

4. Efey FFEl A WA 9RE F AWE

R EUEE 1 WRd H 1674-75 H
e foRam |

ST # A A ¥ Fu wh E 2
(a) Fad 1 3R 2

(by 2 33

() 3 AR 4

@ 1,23R4
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137.

138.

Which of the following statement(s)
is/are true for Olympe de Gouges ?

1. She was one of the most important
politically active woman in revolu-
tionary France.

2. She was one of the members of
the Committee that drafted the
Declaration of Rights of Man and
Citizen.

3. She wrote the Declaration of the
Rights of Woman and Citizen.

Select the correct answer using the
code given below :

(a) 1 only
(b) 3 only
(c) 1 and 2

(d) ! and 3 ¥
Arrange the following inventiqng-'iﬁ' the
field of cotton industry in chrenological
order (starting with the earliest) :

1. James Hargreaves’s Sp_inning Jenny

2. John Kay’s|Flying Shuttle

3. Samuel Crf')'mpton’s Mule

4. Richard Ark?vﬁght’s Water Frame

Select the correct answer using the
code given below :

@ 1,3,4,2
®) 22, 1, 4,3
© 4, 1,3, 2

d 2,4, 1,3

B-PFCA-O-JCV — A

139.

140.
' Congress, the British became suspicious of

141.

While opposing the Public Safety Bill, 1928
who among the following said that it was
‘a direct attack on Indian nationalism, on
the Indian National Congress’ and as ‘the
Slavery of India, Bill No. 1” ?

(2) Motilal Nehru
(by Lala Lajpat Rai
(¢) T Prakasam ¥

(d) Diwan Chaman Lal

Soon‘after the formation of Indian National

nationalists. Who among the following
called Congress representing only the
elite — “a microscopic minority’ ?

(a) -’f"J-Lord Napier
(b) ' Lord Dufferin
(c) Lord Ripon

(d) Lord Lytton

What is the common element among Ram
Prasad Bismil, Roshan Singh and Rajendra
Lahirt ?

(a) They threw a bomb in the Central
Legislative Assembly on 8 April, 1929

(b) They were the founder members of
» Swaraj Party

{c) They were the founders of Hindustan
Republican Association

(d) They were associated with Kakoni
Conspiracy case
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137, frferfan & & @3 a1 /8 5o ffw @
oA & TR T R/E 7

1. wIfgHERt ig | 9% oAl &9 4
oo 7@ 7 srfires gyl wigena §
T U 91|

2. 98 Je8 3 A (A9 Uz fafesm)
& afrard 6t S 1 wrey A9R
FRAE AT S e A A |

3. 32 wfen sk A (pE U
fofesm) & sfted B Hrwon @)
feran |

i e M Fe w1 W W g8 W
T

(2) ¥ad |

(b) Fa 3

© 13R2 |
@ 1 3% 3

138, gt 7@ ST & 4 F Br PR
TSR Y FTATTRA ( aaﬁu%ﬁﬁggs
) # W ; -

1. e e R O

2. ST % R W

3. Fue FA e g

4. Fead e 1 AT 3
4 fR W Fe o W o I
T
(a) I, 3, 4, 2
(b) 2 i, 4,3
{c) 4,1,3,2
@ 2,4,1,3
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139.

141,

e e foriroes (afeern A9t farer), 1928
F1 Ry o w9w frafofes 4 4 5o
g A1 f5 ug ‘awdE TEAR W, wwdE
TEIE HiE R HT wER & R ‘ARa i
STEAT HT Teol 7FR H =’ 8 7

(a) T ABE
(b) <Tell ST TH ;r" i
(c) & THRE

(d) < 99 A

4P TR R e B i AT

fafew, wearfeat & iy sweg & |
frfifaa § 3 frr 3 7= B Fiw 3=
fafig/ =f — ‘g sewwen’ @ &
srf%xﬁﬂbammﬁ%?

(a) ar”ré?fﬁm

(b) &S THIA

(c) @i fua

(@) =i frm

ImvETs o, W fag ek e arfed

& I T R

(a) IR 8 I 1929 wY I frum wan
T =7 S

(b) 3 AR IR & GEAUE Ueed ¥

(c)é]%-—ga'l:rﬁm%ﬁﬁqa‘r%mmé:

qeTaE @

(d) ¥ FER! vgIF AHA § Gog @

- A - B-PFCA-O-JCVY
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142. Which of the following is/are not funda-

mental right(s) under the Constitution of
India ?

1. Right to education.
2. Right to work.
3. Right to form associations.

4. Right to practise any profession.

Sélect the correct answer using. the
code given below ;

(a) 1and 2
() 2 and 4
| (c) 2 only

(@ 1and3

143. Mahatma Gandhi’s Hind Swaraj is essen-
tially ' 4

r

(a) acntique qlf Western modernity

(&) an outline of his philosophy of
Satyagraha

(c) an invocation to Indians to free
themselves from the British

(d) ablueprint of Gram Swaraj

B-PFCA-Q-JICV - A

_"145.. Poéhampally in Nalgonda district of

144. The Seventh Schedule of the Constitution
of India contains

(a) provisions regarding the administra-
tion of tribal areas

(b) the Union List, the State List and the
Concurrent List

(c) a list of recognized language§

(d) provisions about the disqualifica-
tion of Members of Legislatures on
grounds of defection

Telengana became famous in April, 1951
because

I
i ¥
.

(4) the /Bhoodan movement was
/" launched there by Vinoba Bhave
(b) the landless peasants rose up m arms
against the landlotds

(¢) it witnessed violent .anti-Hindi
agitation

(d) Silk weavers’ cooperative was
formed for the first time in India

146. Who among the following was not asso-
ciated with the Sarvodaya movement ?

(a) Jaya Prakash Narayan

(b) Acharya Vinoba Bhave

(c) Dhirendra Mazumdar

(d) G V Apparao
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142, 9d & dfavm ¥ avie faffag § @
& 91 /8 va st T /8

1. forer o= &7 st
2. W 9M w1 HAfER

3, T T T AR
4. % 3 FA T AfirFr

AR T g W RN R T IR
3P

(a) 1 IR 2
by 2 ¥R 4
(c) Had 2

d 1 33

143, FEr T F g mow aga: @ 7
(a) qf“ﬁw"lmtgﬁﬁ%lnﬁqam
(b) m%aﬁa&haﬂm-@

(©) Eﬁﬂ%a{qﬁmaﬁwmm
ARG & 3gH

(d) T E=E f TF TG
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144.

145

146.

HRA & ®fag® & emdl sqga # w0
Ftde 8 7

(a) ST &F F WA & &R W
IuSY

(®) ¥ g, <o et R )

(c) WIATTHTE WIHTaAT &) T

(d) < aiEdn & s fam-Hedt &
geedl Ft fEga & IR #.3uwy

AR & Arerieer o § Sremae s
/1951 # f5e Frw wirg ® w2

(a) ."-l\a__fi.- CIR R E G SR
fom 4

(b) gfEA foram yefuat & faeg v
CEcCRCEA

(c) uel fews fg-Rrieht sigiem an mn

(d) WRA W IEe IR IR AR GRIRAl
1 5T A

frafafea & @ =¥ wafza agaa | g9
qg ar ?

(a) ST WY AREW
) F= e
(c) NG PR
(d) ST F FOURE

A — B-PFCA-O-JCV
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147. Article 368 of the Constitution of India
deals with

148,

149.

(a)

(b)
(©)

(d)

the powers of the Parliament of
India to amend the Constitution

financial emergency

reservation of seats for Scheduled
Castes and Scheduled Tribes in the
Lok Sabha

Official Language of the Union of
India

Which among the following is not a basic
feature of the Constitution of India ?

(a) Fundamental rights

(b} Independence of judiciary

(¢c) Federalism

(d) The unguestioned nght of the
Parliament to amend any part ‘of the
Constitution ., : _

Which one among the“following is nof

a fundamental dutyl?

(a) To abide by the Constitution of India

(b)

and respect the national flag and
national anthem

|
To safeguard public property

B-PFCA-O-JCV - A

{c) To protect the Sovereignty, Unity and
Integrity of India

(d) To render compulsory mulitary
service

150. Which of the following areqthe basic
features of the Constitution (73rd
Amendment) Act ? :

1. Provides for a.three-tier ‘structure
of panchayats in the village,
intermediary and district levels.

2. Reservation of seats for Scheduled
Castes and Scheduled Tnbes and

“ women in all the tiers of

panchayats.

3. Election to panchayats under the
supervision of the State Election
~ Commissions.

=
W

4. Introduction of the 11th Schedule to
the Constitution.

Select the correct answer using the
code given below :

(a) 1,2 and 3 only
(b) 3 and 4 only
(c) 1,2, 3 and 4

(d) 2 and 4 only
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147,

148.

AR & \ITE H =g 368 forw & wey
LA

(a) FTTM F1 AAEA FA N HRG
Tag st afth

() foeia s

() @ W A ogEfw il sk
Fgia st & fom st W
e

(@ mﬁﬁﬁw

frrfofaa & & @7 &, g & wfaum &

- sy fasteen Wi @

149.

(a) WA AfER
(b) ~aTagTfereRT Y @dEar
(c) uRE"aTg (Hetferw)

@ wfrm ¥ Bt o ww o

e i rwg 1 fifd
Fromffie # & <7 w1t o7
AEL 8 ? f

(a) W%dﬁmmwmaﬁtw
=9 3R TYATH F1 31T AT

(b) aTfE wufywr wRiE T

45

(c) AR F wIaT, TEHal AR @
TET AT

(@) fe=d &= T wem Fwn

150. feafafea & & == =1, @faw (739
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www.examrace.com




